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£\- If you can’t find Dutch cheese, Danish cheese iS ........cccoueuueee good, too
V) heavily Y) commonly ¥) equally ¢) currently
£ Y- The accident was your fault. If you ............... more carefully, it wouldn’t have
happened.
V) have driven Y) drove ) drive ¢) had driven
£Y. He has got such a strong ...........cccoueee.. He never forgets anything.
V) brain Y) capacity ¥) memory ¢) mind
¢ £- When she asked my .................. about him, I had nothing to say.
V) opinion Y) impact ¥) function ¢) amount
£ - She wanted to Know ......cccoevveiniennnnns any foreign languages.
V) If I can speak Y) that I could speak
¥) why I can speak ¢) whether I could speak
£7- The ancient Iranian were known for the .............. culture they had long ago.
V) Primitive Y) advanced ¥) limited ¢) offensive

¢V- The couple could not reach ................... after two hours of discussion.



V) appointment Y) excitement ¥) argument ¢) agreement

tA- We were.....coevueenenens when we heard that the plane would not fly because of
bad weather.

V) crashed Y) disappointed ¥) painted ¢) interested

£4- Our freedom is to some extent ................. so that we should not hurt others.

V) increased Y) limited ¥) ignored ¢) dangerous

.. Is there anything I can help you with?

I just wanted to Know .........c.cueeee go skiing with us.

V) weather you could Y) weather could you

¥) whether could you ¢) whether you could

®)V- There are .......ccccceeuenee dirty plates in the sink. Would you help me, wash
them please.

) much Y) little ¥) a few ¢) alot of

¢Y-1 can smell some thing ...........ccccceuueee in the kitchen.

V) burning Y) burns ¥) is burning ) to burn

°¥- why don’t you ask Ali to keep the accounts?

He dosen’t have ..........c.c.. experience to do that.

V) enough Y) too ¥) so ) as

¢ {- He didn’t know that his aunt was in Hospital. ............

V) I didn’t either Y)sodid I

) did too ¢) But I didn’t

¢o- Look! Something is .............. in the river. Can you see it? Yes, it seems to be a
big box.

V) furnishing Y) floating ¥) gathering ¢) swimming
¢1- The amount of air ............... in Tehran is increasing day after day.

V) position Y) prediction ¥) protection ¢) pollution
°V- would you please measure father’s blood .................. every night.

V) treasure Y) pressure ) feature ¢) nature

®A- Whenever I have to leave home .................. , I forget to take my watch.
V) hurriedly Y) really ¥) obviously ¢) hardly
®4-Tcan’t see any ......cceeeenees between these two flowers.

They closely resemble each other.

V) situation Y) condition ) distinction ¢) direction

1 +. Amir looks like his father, in other words, he ........... his father.

V) respects Y) reviews ¥) resembles ¢) repeals
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